A STORY OF UNITS Lesson 9 Problem Set -~ |

Name Date

Solve.

1. An office space in New York City measures 48 feet by 56 feet. If it sells for $565 per square foot, what is
the total cost of the office space?

S5t Area. = Lomgthh x widith (A= Lxw)
43 £ A =56 x U3 2688 X 505 =
A = 2LBRY H* ,518,320

The Yotad cosk of the office space 1s 81,518 20

2. Gemma and Leah are both jewelry makers. Gemma made 106 beaded necklaces. Leah made 39 more
necklaces than Gemma.

a. Each necklace they make has exactly 104 beads on it. How many beads did both girls use altogether
while making their necklaces?

SR |O
GIN ) 10 1 - 3%{) + )laLg

\ 1 O |+ 39 145 ,
LN ) T = 351

Both gicls used —2 10U beads

b. At a recent craft fair, Gemma sold each of her necklaces for $14. Leah sold each of her necklaces for
S10 more. Who made more money at the craft fair? How much more?

G= (100 % 14)= ﬂw‘w%f;mw
L=(_\%x(\«—\+\o\] 1372 b% et
IHS x a4y = Z%%b
- 1434
199
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3. Peng bought 26 treadmills for her new fitness center at $1,334 each. Then, she bought 19 stationary
bikes for $749 each. How much did she spend on her new equipment? Write an expression, and then

" (Al x 1339) + (19 x Fu9)
3 ety + 14,23)

SpK 3 qg,qlb OV i) QWlPWUUVd(
4. AHudson Valley farmer has 26 employees. He pays each employee $410 per week. After paying his

workers for one week the farmer has $162 left in his bank account. How much money did he have at
first? S . . :

s

5. Frances is sewing a border around 2 rectangular tablecloths that each measure 9 feet long by 6 feet wide.
If it takes her 3 minutes to sew on 1 inch of border, how many mmutes will it take her to complete her
sewing project? Write an expression, and then solve. - : '
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ANZLG - Word Proplems

Fluwcy)
U5 tenths = H.5 x &% = 450
H denths = 0.8 x 105 = HO

2395 tpusandths = 3.895 x \0° = 3395

5437 ones = 5432 £ 10> = 5.477

L
412 x 231 & 40O X 200 = 30,000
523 x 4% = 500 % 300 = 150,000
L8Y ¥ 34T X FOO X 200 = 2O, OO0
9403 x 29F = 900 X 300 = 230,000







